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ECE-300, Quiz #0
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2) If 
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Problems 3-5 refer to a system with transfer function 
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. Assume the input to this system is 
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3)  In steady state, the magnitude of the output will be 

a) 
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4) In steady state, the phase of the output will be

a) 
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5) The bandwidth (-3 dB point) of the system is

a) 10 Hz   b) 10 radians/sec    c) 3 radians/sec   d) 3 Hz
6) The following figure displays the magnitude and phase of a transfer function 
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as a function of frequency 
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.  The input to this system is
[image: image29.wmf]()2cos(330)

o

xtt

=+

. Determine an expression for the output of the system in steady state.
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